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 : same direction as ν τ−

τ → πν

left-handed and right-handed
almost ?50 %

 : opposite direction as ν τ−
if  is right-handedτ−

→large angle between  and τ− ν



angle: MC  and neutrinoτ
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angle: MC  and neutrinoτ
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τ → πνmττ > 240 GeV

eRpL sample has larger angle between  and   ?τ− ν



⃗P τ+
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vis β1 + β2 > βcc

Find solution

if

then

→2 possible solutions

→ -  is back-to-backτ τ
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2 overlapped points
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Find  to find 2 solutionsϕ



⃗s = (sin β2 cos ϕ, sin β2 sin ϕ, cos β2)

⃗s ⋅ ⃗Pτ+

vis = sin β2 cos ϕ sin θcc + cos β2 cos θcc = cos β1

⃗s ⋅ ⃗Pτ−

vis = cos β2

→ cos ϕ =
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2 solutions !!
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eLpR and eRpL samples: almost same tendency

GOOD solutions 



⃗P τ
vis ⃗P τ

angle between 2 solutions

0.018 rad  ∼ 1∘

angle between 2 solutions is very narrow



angle between MC tau and reconstructed tau
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angles of  are  rad because of flipτ+ ∼ π



angle between MC tau and reconstructed tau vs tau energy
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Plan
Look at
・both tau decay  hadronically / leptonically 
・1 hadronic decay and 1 leptonic decay

tau decay mode selection

investigate why this happens
if  cut are applied, BDTG Ranking result is strange…mττ > 240 GeV


